Catalog 3500LEG/NYC

@
7

=2
=)
a
o

c
2
]
]
[
a
£
5]
o
=
=
Lo
o
=
(")
("2)
@
S
m

Brass Sleeve Brass Sleeve
0124 o1
0124 Suffix 40, 0111 Sleeves
0D MM PART NO. wr PART NO. wr Technical Specifications 0D MAX KG.
f Nut MM TORQUE
4 01240440 .001 01110400 001 of Nuts
4 7
5 0124 05 40 .001 0111 0500 .001 . .
Tightening Torque 5 7
6 0124 06 40 .001 0111 06 00 .001 Maximum kg - tlghtenlng torque A 5
8 01240840 002 01110800 002 for nut 0110 and sleeve 0124 on s e
10 01241040 .003 01111000 002 copper, brass or steel tube '
10 1.8
12 0124 1240 .004 01111200 .003
12 3
14 0124 14 40 .004 0111 1400 .003
14 35
15 0124 15 40 .004 0111 1500 .003
15 4
16 0124 16 40 .006 0111 1600 .004
16 5
18 0124 18 40 .007 - -
18 6
20 012420 40 .009 - -
20 6
22 01242240 012 - -
22 7
25 012425 40 017 - -
25 8
28 012428 40 017 - -
28 9
A T
[V “’
oD . @D
1 T— !
CL [} [ : ¥
J L _____ T
[ MOF L OF
Brass Brass Nut
Nut 0110 0110...60

0110, 0110 Suffix 60 Nuts

0D MM c PART NO. wT PART NO. wT
4 M8X1 011004 00 .005 0110 04 00 60 .006
5 M10X1 01100500 .006 0110 05 00 60 .009
6 M10X1 0110 06 00 .008 0110 06 00 60 .01
8 M12X1 011008 00 .008 0110 08 00 60 .012
10 M16X1.5 0110 10 00 .019 0110 10 00 60 .027
12 M18X1.5 0110 1200 .026 0110 1200 60 .041
14 M20X1.5 0110 1400 .029 - -
15 M20X1.5 0110 1500 .028 0110 1500 60 .050
16 M22X1.5 0110 16 00 .043 0110 16 00 60 .072
18 M24X1.5 0110 18 00 .059 - -
20 M27X1.5 011020 00 .057 - -
22 M30X1.5 011022 00 .079 - -
25 M33X1.5 01102500 121 - -
28 M36X1.5 011028 00 .109 - -

A WARNING These products can expose you to chemicals including LEAD which is known to the state of California to cause cancer and birth defects or other reproductive harm. For more information go to www.P65Warnings.ca.gov.

m Elegris Parker Hannifin Corporation = Fluid System Connectors | Otsego, Ml | 09/24 D22



http://ph.parker.com/us/17054/en/brass-compression-fittings?cm_mmc=Website-_-FCG_FSC-_-Digital%203501E%20Catalog-_-Brass%20Metric%20Compression

